SHN7ERL
(BNIIE)
AHMEARER (KRETEAMA)

RFTIBIT AA5E1T, MPESM A E 22 (REBE TR MO @ (2) DEDIT
K0 KBTS 3T+ 2581 2EHT 55D TT,

F. EEONIXKETRFEITE 203 > THET S RHE T35 I E ORFRIZ OV TR,
ZDLYEOFEGIT, FETFOIEMIZHEE L TWET,

RFD THXETF A ] WSRO L To 2 R LT85 Ao MEIL, 505 FED
[ G PER AN ARI . KRBT 2R E2RCTHAELETOT, THEESEI VY,

B 1£ Hh i B E
= B A0 48| 8 Hh b
- . BT 44 X X7 B X i% 4 S CEFSE o
m/g\ m IX[HT*TZI j( ? Zl ? Zl /‘ﬁ::; I 2z} Zl =F FDE iﬁ
N & %
EES T P
i AT KB TE A (25) 1.3 30
IET iR ET KIRRC T35 e (4356) 1.1 30
REARIT KA TS A (2550) 1.1 40
” T KB TIRMME (28) Lo | 30
MECTH [k FHUET M (2) 14| 30
IEJ*.L\
=X H KBTS (25) 1.1 30
JIAERT
1L FH e KB T A (258) 1.1 30
T M KBTI MM (425) 1.1 40
Z /AT
1E S SEIT KRBT (25F) 1.1 30
IRE KRB TIG MM (45) 1.0 30
LSRN 3%
iR KRBT (25F) 1.1 30
R EEH % [ KRHET KA TG (4236) 1.0 30
et |ZEH 5TH KBTI A (25) 1.2 40
TRIET KB TE A (25) 1.2 40
= NET KA TG A (2550) 1.4 30
D Ry KBTS A (25) 1.1 40
REETH
bRt KT (4558) 1.2 30
HESE 1TH KR T (4558) 1.1 40
LeHT KBTS A (25) 1.3 40




TH7 &5

(RIE)
Pt 2
= B FE A 48| 2 b b
X T A 44 IZRTD|E A
&% %
KB TE A (25) 1.1 40
RESET
B 3= KBTI (25) 1.2 40
PIVETH KBTI (25) 1.1 30
KBTS A (25) 1.1 40
KBTI (45) 1.1 40
o RBE T () 1.0 40
H il
KB TE A (25) 1.1 40
KT (42558) 1.1 40
KB TE A (25) 1.1 40
KA T A (2358) 1.0 30
FrEEEKET
KB T35 (450) 0.8 30
= KBTI (450) 1.1 30




